Exercise 4
Q1.
 X : 
Weight (kg)
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For School B
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The weights of students from School A are more variable than the weight of students from School B, since 20 % > 16.67 %.
Q2.
For ages (Years)
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For hemoglobin Level (g/dl)
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 100 = 24.51 %

The Hemoglobin level of the patients is more variable than the ages of the patients, since 24.51 % > 16%.  
Q3.
Xi : The weights (in kg) of pregnant women
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(b)  Standard Deviation, s
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(c)  Coefficient of Variation , CV
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Q4.
 Hemoglobin level of 10 children



Xi : Hemoglobin Level (g/1000ml) 




xi : 6.7,   9.1,  10,  11.4,   12.4,  9.8,  8.3,  9.9,  9.1,  7.5  
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 (b) Hemoglobin level of 15 children

      Xi : Hemoglobin Level for another group of children
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 Hemoglobin level of 10 children

 Hemoglobin level of 15 children
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The weights of students of hemoglobin level (for a sample of 10 children) are more variable than the hemoglobin level (for a sample of 15 children), since 18.06% > 12.24 %. 
Q5.
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Notes on Q5 (vi) , (vii)
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